Lesson Plan for Month 4
Functions
Objective: F.IF.7
Student Objective: Students will learn how to determine the solution to a system of equations that models a real world situation.
Materials: Pencil, paper, graphing calculator, and laptops

Focus/ Review- Students will be presented with the role model video of Shaun McCabe describing using system of equations in the development of video games.  
Teacher Input: Teacher will assist students with logging onto the VCL and walk students through the instructions in the activity. “For thirty years, the world records in high jump for both men and women increased consistently, with women’s records increasing faster than men’s. If the pattern continued, would the records someday be the same? While systems of two variables can be solved graphically, most systems in the real

world contain more than two variables and cannot be solved with a two-dimensional

graph. For those problems, there are other solution methods. You will use those

methods for two variables and use the graph to check how well they work. 

1. Open High Jump.ftm. You will see collections and graphs for both men’s and

women’s records for competition high jump since 1970.


2. Select the graph for the women’s records and add a movable line.

Position the line to fit the data well.

3. Repeat this process for the men’s records.


4. Add a new graph to the document and choose Function Plot from the graph’s

pop-up menu.

5. Open the graph inspector and set xLower to 1970 and xUpper to a value more

than your answer to Q6. Then set yLower to 1.9 and yUpper to a value more

than your answer to Q7.


6. Choose Plot Function from the Graph menu and enter the equation from

the women’s graph, changing year to x. Then plot another function using the equation from the men’s graph.


Guided Practice/ Independent Practice
 Students will answer the questions aligned with investigation.


1. By substituting, we can use two known facts to conclude a third fact. For

example, if Carl owns the book and the person that owns the book wants to sell

the book, then what fact can we conclude?


2. If y = 3x +2 and y = 5x - 12, then what does the transitive property of

equality allow us to conclude? What is the solution of this equation?


3. When these data were collected, what was the current record for women, when

was it set, and who set it?


4. What is your equation? What does the slope of this graph tell you? At what

rate is the women’s record increasing?


5. What is your line of fit for the men’s records? At what rate is the men’s record increasing?


6. To find where the lines might intersect, use substitution to equate the

expressions in the two height equations. Solve this new equation and give a meaning to your solution.


7. Substitute your answer to Q6 into each line-of-fit equation you are using from

Q4 and Q5. What are the two results, and what do they mean?


8. What do you see in this graph? What’s the point of intersection?


9. Does the point you found make sense? Explain.

Closure:  Students will discuss findings. 
